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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-12_0
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P3-12

Bfig) | GEBEATIC (FD) | EBRE (BFH/HR) | XS EFE

08:25 149 70.0 FH| FhHA@08:25 KRENIZF (KRATRELES)
09:30 149 70.0 FA| FiHA@09:30 KENFEF (KRFTERES)
11:10 149 70.0 FR| FiHA@11:10 REFEF (KFERE)
12:35 149 70.0 FH| hHA@12:35 KREIEF (RATREES)
14:05 149 70.0 FA| FiHAe14:05 KEEF (KFAEESS)
2it| 745.0 (5%) 350.0 3ESHKEC: 2080.0, PH: 6.0

REREBIEC (2640.0) HiZEEC (2000.0) REK K, HEE
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P3-12

BYIE) | BT (F)) | s (EFA/#R) | XS ERR

07:20 152 60. 0 FA| {Ri&@07:20 Bz (RAfEEEE)
08:15 152 60.0 (Z=| {Ri%@08:15 Bz (RAMEHSE)
09:10 152 60.0 S| 1Ri%e09:10 Bah (REEEER)
10:05 152 60. 0 S| 1Ri&e10:05 Bah (GREERESE)
11:00 152 60. 0 S| Rige11:00 Bz (REAERE)
11:55 152 60. 0 RS Ri&e11:55 Bz (REERSR)
13:40 152 60.0 | RE| {Rige13:40 Bz CGREAEESE)
14:50 152 60. 0 BE| Rige14:50 Bz (REAEHE)
16:20 152 60. 0 BE| 1Ri%e16:20 B (RF{EREE)
Zit[1368.0 (9%) 540. 0 329333 %EC: 2080.0, PH: 6.0

TERRHER 2 STEEARTF (195.0 :

ZRIASERRIERE141.0 ml.

141.0), AIEEHT—RE XA HS
LoRGERRETC (300) 57HA (128. 0) FF, AR T & MR EIRS £ XER

large discrepency for begining water status (150:225.0), set to 165.0 ml.
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P3-12

RTiE) | EBIATK (7)) | EBE (EH/HK) | XKR SRR

07:05 190 50.0 BE| {Ri&e07:05 Fz (REAEHE)
08:05 190 50. 0 RS {Ri%@08:05 Fz (FRFEFEEE)
09:05 190 50.0 RS 1Rige09:05 Fzh (FEEESE)
10:05 190 50.0 RS 1Ri&e10:05 F3) (KREERSE)
11:00 190 50.0 el Rige11:00 Fzy (REAEHSE)
12:15 190 50.0 | 1Rige12:15 Fzh (REEESE)
13:25 190 50. 0 B 1Rige13:25 Fzh (REEZESE)
14:40 190 50.0 RS Rige14:40 Fzy (REAERE)
23t+]1520.0 (8%) 400. 0 329333 %EC: 2080.0, PH: 6.0

TERRHER 2 STEELRT (124.0 :

PRIASLPRIEBRE89. 0 ml.

89.0), AIREAT—AE XAHE
LRGEREE (190) 5748 (106. 0) FF, FIREH T & REEIRS £ XER

large discrepency for begining water status (111:198.0), set to 128.0 ml.
FEXRFEREC (2620.0) 5iZFEEC (2000.0) {REHKK, 1HHRE




P3-12_0, Day=26 (2025-04-28)
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